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TERM 2 END-TERM EXAM 2011
MATHEMATICS FORM 1

1) Round off the following numbers to the nearest number indicated in bracket.

i) 543214   (100)									(1 mk)



ii) 984371   (1 000 000)								(1 mk)



iii) 358421   (10 000)								(1 mk)



iv) 4196421   (1 000)								(1 mk)



v) 64989   (10)									(1 mk)



2) Evaluate the following

a) 485 – 81 + 231 – 41								(2 mks)







b)   36 – 6x – 2 – 14 ÷ -1								(3 mks)
	 -2 x -3 + 4 (-4 + -1)






c) When a number is divided by 15, the quotient is 18 and the remainder 5. What is the number?										         (3 mks)












3) State the divisibility test for

i) 2												(1 mk)



ii) 5											(1 mk)



iii) 9											(1 mk)



iv) 11											(1 mk)


v) 4


 
4) A farmer has three containers of capacity 12l, 15l and 21l. Calculate the capacity of:

a) The smallest containers which can be filled by each one of them an exact number of times.										                                  (2 mks)







b) The largest container which can fill each one of them an exact number of time.   (2 mks)












C) Find the L.C.M of 120, 480, 720 and 960.					       (3 mks)













5) Show how the following can be done using a number line and give the results.

a) (+2) + (+3) + (+5)								(2 mks)






b ) (+6) + (-2) + (+6)								(2 mks)






c) (-7) + (-2) + (+6)								(2 mks)


d) (-2) + (-2) + (-2) + (-2)								(2 mks)








e) (+3) – (-4) + (-1) – (-5)								(2 mks)








6) 3/5 of pupils in a school are boys. If there are 96 girls in the school, how many pupils are there in that school?								(3 mks)















7) a) Express the following numbers in standard forms.

i) 249										(1 mk)



ii) 3496.4										(1 mk)



iii) 0.00396									(1 mk)
b) Complete the table below.							(6 mks)

	Number
	3 s.f
	2 s.f

	84963

	
	

	40091

	
	

	0.004536

	
	



8) Find the squares of the following by direct multiplication method.		(3 mks)

a) (31/3)2





b) (9.1)2





c) (0.037)2										




9) Find the squares of the following using tables of squares.

a) (9.08)2										(1 mk)





b) (90.8)2										(2 mks)





c) (3142)2										(2 mks)

			
10) Use the tables of square roots to find;

a) √4.21										(1 mk)





b) √59.31										(2 mks)






c) √0.0081										(2 mks)







11) Simplify the following expressions

a) 	4x + 3y – 2x + w – 2y								(2 mks)









b) 	4 (x + 1) – 3 (x - 1)								(3 mks)
                 6









c) Factorize the following expressions by grouping; 
3ab + 2b + 3ca + 2c								(3 mks)














d) Evaluate

i) (p + r) 2, when P = 6 and r = 2							(2 mks)







ii) p2 = r2 when p = 6 and r – 2							(2 mks)








12) Find the ratio a:c   if a:b = 1:4, b:c = 1:5						(3 mks)










13) Decrease the given number in ratio in bracket.

a) 49 (3:7)										(2 mks)







b) 50 (2:5)										(2 mks)






14) John, Abdi and Mark share the profit of their business in the ratio 3:7:9 respectively. If Abdi receives shs.60,000, how much profit did the business yield.			(3 mks)















15) A man bought 10 mangoes at shs. 9.00 each. He ate four of the mangoes and sold the remainder, making an overall profit of sh. 8.00. Calculate:

a) His selling price per mango.							(3 mks)








b) The percentage profit on each mango.						(3 mks)














16) Find the angle subtended at the centre of a circle by an arch length of 22 cm, if the radius of the circle is 14cm.									(4 mks)
















17) Find the area of a sector of a circle of radius 3cm if the angle subtended at the centre is 1400. (Take π + 22/7)									(4 mks)











18) Find the surface area of a closed cylinder of radius 14cm and height 10cm. (Take π = 22/7)												(4 mks)
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